
s<r6{ur 1

fiilvr ( roco r t s ) : ** ti rrt qrs-sn+q Er qqq{ qrh *n f<n rrn c*if i Tdr
frFqS. 1d[6$oer]o vfrqn, zor r )

qfi ftrysfrsrf,c{ f(t T+ci{qtr* erqfrr{ fi-r srdrr-erfiq ffiqf,ilrotE}E{+qre
ftuftt+d{qttrqrif {)

35

30 trH
I oiffi
ffi 'rFrc

25

20

1

G

E
;
t$.E

F
f

E

l5

10

5

0
2008 2009

1. E( 2009 t frA'd ft{ fqqdl ul E+ qTA gn ffitrii i t : sx Fst+qi fr Em sd,rFrd g-{i
qrfiE.s+ffit?
(a) 1322 (b) 1332 (c) t3r2 (at f+ifta rfr f+'q q v+-or
(") F+i t +ti =rd

2. Ed 2007 t ffi{srf,c t ffi tdf *1 {qr 45 503 0 d, iit f+ rri dr{ fqq"ii s1 g+ qrd ffifif
+lgariergn ffiidol o'rqrrfrdi cfrffi *?
(a) l9o/. (b) 9% (c) 12% (d) 5% (e) 23o/"

3. sd 2006, 2007 nqr 2009 tgid fudrEF.( ffi dcn rFrd E+ qrA ffiftif u1{'@r td-dfr fr ?

(a) 97ooo (6) 93000 (c) 85000 (4 e6o0o (r) t-{i t'+ti Td
4. sd 2005 flr 2oos { ft-er+-r ffin gli qrd ffii.it *1 tgr Ed qtr fr fr 'n frrq E+ srA

f+sltqql- 61E;E {qr s,r drrqq ffi sfr{I( fr)
(a)38% (b) 28% (c) 42%. (A 32% (e\48%

5. sd2006ncn2008qfufl6{otH3{iqreffiHf d {iqt ffir q{ 2005 st{ 20ol I fuomr
ffi g-tt qri ffiffi +1 {qr * *q *qsr: Hr iEqrd t ?

(a) 1l :5 (b\ l2:7 (c) ll 7 (4 t2t5 (r)E{t t :6,ti Td

2005 2006 2001

qd+

l!:ll

I:::T

It:I

it3

695



6S . 3i6rlfrrd

H.rlqrn*re
1. (4 : q{ 20oglfrrfqsdidg-{+ qraffiHf +1 g;e {qI

: (20 + 20 + 5) EqR : 45000.

ssi Estfilii a1 dc{r = forooo *ll )=, r, oo.( t00 J
qe t to gstrTfrE + Es{t- u1 {gr frtrifrd rd oi q q+-d.

2. rbr : 3rfrE or" - j 
(ts + to + t s)x t ooo r.rool"r" = f 

40000'l 00 
)r" = r. rr"" = r0,"

I 455030 I \ +ssoro 
.1

3. (e) : qd 2006, 2ooz aqr zoos i ffi srt{ ftR E+ qtd 41 {qr
= (5 + 15 + 20)EsIR+ (35 + 15 + 5) EsIR

= (40000 + ss000) : 95000.

4. rd: rrrfr€ "^ = 1, t"*")''ooo - r,roJoro
l[(s+35+ l5) + (25+30+30)]x1000 

J

=l 45 ,looJ v"=( !1rrc0\v,=32.14ro=i2%
[(ss+85) J (l4o )

^ (25+30)x1000 55 11
5. {a): 3llllq 3fiql = 

j--------------- =-=-= :5.' (5+20)x1000 25 5

TqT6{ut 2

fr tvr ( troqo o t r o ) : ** f<t rrt qus-s{r&c ET srqm q.{+ F(+'d qr+ + ym *lqq.
( ilo fto*o qfrqn, zooe )

qfrq fahrJr {rsr+ + fr{ ftffra ffi { Ertr qt {tqr

$l une

! lrca.

! rrn

450

400

350

300

250

200

150

100

50

I
E'w

t
ft
F

0
EDB c

{rem .-



6. {er{ D t MCa t, ori +1 {qr us dern * qg {6rd d vq G Err} B1 g;d {qr qr ffi
ctd{ril t ? (<{re-q h z ei+l n-d)
(a)38.8s% (b) 40.48% \cJ 37.21% (d) 36.36% C)FtqiEt$Td

7, {rqn Et MCA+ Err'f ft1 {qtqafrterri+MCA+'gieEri+1 {cqr +r erqrr ffi
rfdsrd t ?

(a)42% (b) 260/0 (c) 38% (O t2% (e)20%
t. {TqH c iln E i E-d LLM + ET i +1 risr or {rqn lnqr B i gid N,BA * Eri a1 riqr t

rqv: l+t-o erjqn t ?

(a)2:5 (b)7:6 (c')2:1 (d)13 2e G)E{qt+{r-fi
9. €tfr {en+ I MBA+ Eri q1 {wr g;c ffi t?

(a) 1800 (b) 1725 (c) l87s (d) 16so (e) F{q- t at$ Td
10. {$ d€nfr t NalA, McA inn LLM + orit +1 {qr t re{r: rFrr srlqrd t ?

(a) 68 :65 :38 (6) 68 :38:65 (c) 68 :61 :38 (d) 68:38 : 6l
(r)l-+q++i$Td

6. (c) : enfre oZ =

7. (r) : 3nt€ %=

400

(425+400+25O

425

(325 +350 +125 + 400 + 425\

, r oolz = I 
aotroo 

\n = rr. rorn = r, . rrnJ Ir07s J

x100 %

= f 
+zs'too'1, -, 6. t5% = 26yo.I rozs J'

t. rd: errfrre sfiqrd - (75+250) 
=325 =ll =13.29.- (275+4s0) 725 29

9. (e) : sS {{fii { Irme * sri +18;E {qr
= (275 + 450 + 2s0 + 425 + 300) = 1700.

10. (a) : ortfi€ srJcR = 1700 : 1625 | (t5o + 225 + 75 + 250 + 250): l7O0:1625: 950:68 : 65 : 38.

|(}.rqqFni*.Ef,



60s . .dif,qflokl

sEr6{ur 3

ffd$( qoao rr t rs ):*ifrt'rne!-s-Hdfr.rdqlaafidtq<gfrxirellYi[.r3 r(i
<arqz=if )dqfl tqrrrqrt.frwc-HqlqF*+q.srq.rrq,-*ft qPafqcqrn*srrtFqS.

( tfq fioeilo q$qrT, zoos )

frrra z qtr{te<st xiuTyE-t3 r({laruaidI

275

250 -

200 -

1999 2000 2001 2002 2003 2001 2005

q{ 
------}u. frcrfqfua d t ffi sfr + dq + fds xirr $R yf,Irqir, r*. ge eercr * vrn t z

(a) 2004 neII2005 (r) 2001 ftII 2003 (c) 2000 ncII 2004

(d) 2001 nql2005 (e) 1999 TeII2000

rz. t+s q{ i fu64 a( +1 qc+ i x* rer<r t rtdyn qkrdm e{ftrrdq * z

(a) 2001 (b) 2oo3 (c) 2002 (d) 2oos G) l-{i t 6ti r-d
13. y6r e{tsd ssl(r !r qfr t ffrfiI cII ?

(o) 275 EIIGI r{ (r) 250 tlT€ T{ (c) 22sdrur{ (4 200 EIrq z{
1,16d t +ti re{

14, ?r{ 1999, 2o0o nqr 2oo I t fqf,rfi{ fi aq$ *'gn rer<t aen q{ zoo:, zoo+, 2005 t frr€Fr-{

<ti aqerl * gm rom i *q{r: er{qrd flr t r
(a)11 :15 (b)7:6 (c)15:17 (d)6:7 (e)flqt*i{d

300

tr x
Y

I
G

E
E
E

22s

175 -

150 -

125 -

00

75

50

25

0



ll. (e) : 2004 ilII 200s I X= (t7s + 125) : 300 drq Er, r= (200 + 175) = 375 6* .a.
2001 nql 2003 t X: e75 + 2OO): 475 Ercr a, y = (Z5O + 2SO) = 500 etTGr e{.
2000 nql 2004 d X = QOO + 17 5) = 375 dIGI T{, r: (t 50 + 200) = 350 erct Er.
2001 de[ 2005 ix=(275 + 125):400 eIIq ?.r, y:(zso+ 175)=425"*-.
1999 ns[ 2000itx: o75 + 2oo):375 erq ?{, y:(225+ 150)=3756*.o.

12. (c) : zoot u rE * = {"1;:oo 
xrco}% 47. s%

129ffi,,00)* =33.33%

125 
xtoo

275 )r"=ffn=ot.on.
(17s - 125) 

x100
t75

(o
-:-:x 100
t7s =2oo % = zs.sN

7
erf,: siR (c) qfi t.
fEr 3ltsd Tflr(r =

(225 +150 +250 +150 + 250+ 200 + 175)

7
1400

= 

- 
dI€ zl : 200 dlq T'I.

q{ tsss, zooo, zoor { ti +r gnr<rct
= (175 + 225 + 200 + 150 + 275 + 250): 1275 EIIGI ?{.

qd zool, zoo+, zoos t <tif E,r gn Yare+

= (200 + 250 + l'15 + 200 + 125 + 175): I125 EIrq e{.
sT$e slwrd : 1275 : 1125 : 5t ..45: tj : 15.

erfr aflixor gn eeret
: (175 + 200 + 275 + 150 + 200 + 175+125)= 1300 Errcr Er

q$strt rrEr giE Tdnfi
: (225 + 150 + ZSO + 150 + 250 + 200 + 175) : 1400 tlrs r{

sTfie €r{qln : 1300 : 1400 : 13 : 14.

2003dqk %=

zoo2lT-fi %=

2005d6fr %=

tzz5-t50)rrga]"/"=[
27s J l.

]",=(

B. (A

14. (a)

rs. (D)

ETqEI

fifl.rqur+q.E€

15. q$ qfr o,r fudm{ xfr gid rflrfi 6r drfi erft qfr ol fudr+l rh gn ser<l or *-qvr, qgqn
qrt?

__91]t_]ul,1,I_ (c) 14: 13 (d) t8:23 G)F{it+$rtf

Y



700 0 ei6rtFrd

s<rflu[4
fr tpT(yoqoroizo):**tlrrtqrsqr+q{fr Rraefr Frfr treier&56ql,cR-drcif

nm qa} an cfdpr( t<erqr rrqr t Ec* ++ A'r$ qrsfr d fr fi ra Effi FT+ + FrqIHT 61 Ea
tqr{Gtvqsusen&qnqTqrufr q,rrrd-ffi erqq-tqrh+nf<t.rTicrfi +slr{FqS'

( lta fro*o qfrqn, zo t o )
ftfira qrtrt+at d r6i qre SEci, ctrdrcft am qqI qr cfr{rd

20

60

I'o
E
.E 40

Ero
.E

,E ,o

50 50
ffis*
trqffi
EI re42 38

34
36

30 30 30 30
28

26

20

l0

BCD
Eidfrqf +

tnr< qffiFrdf *, ttslM E1 W {@r
6idffi trcrfr

A 1250

B 2050

C 1800

D 1150

E 1620

to. *tfr{ z, rnqr c+1 tren;r qfearfr +1 5e {wr ffi t u

(4J 
l7j5 - (r) l82l (c) t47e (d) r6s2 (") F{f t +i r-d

17. 6ffifi 7 fi qe +1 {sr offifi r } qd 61 {reqr qr eqqrr ffi qftfln t ?

(a) t2lo/" (b) 116% (c) 75% (d) r0r% (e) 98%

ra. afe}fi r * yeif +1 {enr *l sfr oid-fi d qft-ald 61 {@r t m'cvr: flr €r5qra t:
(a)3:s (b)1:5 (c)8:7 (d)s:1 (r)fidt+ii-d

rq. aaft 6ta}i+tf t gn tr*fsff +1 eltro {-cql ffi t ?

(a) r6s4 (6) 1600 (c) 1s80 (d) ts'74 (rlr+itqiirfr
zo. +td-i o * grfr d {em aqr vS oH-fi h qd +1 {qr 6r er<r irc+ t ?

(a) 138 (b) 126 (c) 136 (d) 13s trl Wi t +t{ rtl

0
E



16. (6) : Eidlfi l, Bdcr C 61 Ea qF6{r3i +1 {Eqr

17. (b)

20. (a)

I l2sox:o

[ 100

qiotfiz*qat+1{qr

aietfi rSq=it a1{qr

2050x30 1800x421

100 100 t

= [rrro'f9 )= rrr( 100./

=(rc20,4 \=rro.( r00 J

=3125 y" =tts.lyo =t

= (450 + 615 + 756) = 1821

t6%srfr€ %= :--: xl00
324

18. (e) : oiaifiB+y5tr+1{@T =

el-+i*q({.oqT =ry
5

+id-fi a +1 cFedreif 61 {qr =

srfreertcn =#=i=t',
le. (d): s$fidiflii*gnfmtuff +1der

27

l,roro,l9 )= ,or, .( 100,

(20,,!e)=or

= (1250 + 2050 + 1800 + 1150 + 1620)=1979

= l5'74

oi-etfio$Sufro1{q =

etd-io*q-d+1{qr =

snfre q<{ : (437 - 299) :

(' 
'rr,l![ 1oo

(rrro*?L
l\ 100

138.

)

)

437

299

R.rqqq-n*B-nr



702 . 3i6qfsrd

E<r6{ut 5

Fdyr ( soqo 21 + 2s ) , *ifri'riqrs-err&ct qfi{rrd{+ ftFra fu{FiltqrdTd
E,ffi qt riq 6} fwrqr qqr t vc* nn t qf {RUfr q- qarr-erfirl ftnfifr { E,t{cd 55,c't
aqr frmsfr q,r srdqrfr tqT rrqr t. Fc ws-srrdq am qnuft qr rlfr-ffi elqq< q,tt **
Etrrnvrn*vmtfeS. (lfmtoe{}oqfrFt, zoos)

q6 {rrfi * ftrfrra tnrfr { qdrr qtqFtq} ot{qr

1

E'p
t
€
f

400

350

300

250

200

150

100

50

0
frcqr IT i{a

EqrrT >

affi'<Idgts-ctf,rErdcn
fu{m 5t{ : rIF€lI

HR 9:16
frcqtr 3:2

IT 9 :31

ffi 2 ..3

TdITCI l1 :4
qffiir 4:3

21. qlfr tcqFt dE'r4r{ grfr +1 $dri@I ffi t z

(a)7ss (b) e2s (c) 836 (d) 784 (")F{qt6tTd
22. IIR frr{Fr d E,r4'(d cf{drci} q1 {1qr ftEd-+ t ?

(a) lsE (6) 128 (c) 136 (d) 144 (") flfr t 6ti Tfi
23. sdlrfi fqwl fi 6ffi{i +1 riqr <qr q+sEfti'r fqqrrr + E.ffiidi +1 {qI or erjcrd

f6-f{r t ?

(a)r5:14 (D)8:? (c) 14:15 (d1 't:s C)EdtEtiTfi
z4 foe fufirr t qF6flsr\ 61 {r-dq {qr 6rd{d t ?

(a) Equn (D) Tdnfi (c) HR (4 tq-n (r) Ed i st$ Td

HR E-dlrfi qffii'l



2s. {rrd{ C Rfr frqril t gfr +fqrRdr +f tq ffi t ?

(a) 1s00 (b) 1s'7s (c) 1525 (dl 1625

lqsqi

(e) Fci t 6t$ Tei

R,rtqF+*Ed
21. (c) : \I$ fuint i 6r+.d gFs) +18ffi riqr

s225x-
25 ).t

ztsxl
5 ).(

q
200 x --

40I( ll sx2-
5

37sx lf
l5

L
350x-

7
+ +

= (81+165 + 45 + 70 +275+200) =836

22. (A

23. (a)
175 t<

=::: ='"- - 15 14.350 14

2a. (b) : t<fir< frqrt t cf{dr$ s1 {@r

25. (e\

HR fEqrq d sd{d qtef,r3if 61 riEqr =( ,rtr'|\=t*.
rsercr t offi +1 riqr r :,*".s!* u #t* * *,

,* -(rrs,lt)= r44, frqun - (rrr"?)=,,0,

,t - [roo, 
!-!, 

)= 
, ss, fo-n -+ 

[r 
7s x 

] 

)= 
r05.

11 -(rrr,f, )=,*. "+*sto' 
-_, 

( :so^1.)= r so

r+d t s+i q,q tuqr ror<r it t.
eti frw,t*gnq.ffi+1{er

: (225 +275 +200 + 175 + 375 + 350) = 1600.

AN ADVANCED APPROACH TO
DATA INTERPRETATION

o An ideal book for all competitive examinations.

o A whole lot of questions on Bar Graphs, Line Graphs, Pie-Charts and
Thbulat ion, fu lly solved.

o Illustrative examples with techniques to soive all types of problems.

r Previousyears'questions included.

- Dr. R.S. Aggarwal



zlt . sifirlfll-d

5Er6{uT 6

f fls 1 voro 2 6 t 30 ), fti t<i rri <uc-or*s d qn q,qfr Errr fu rn qqT d frf{ttd nqr
ffi .r$ TqI qt {qr ( Hrdr { ) t q$ t vrqr qr+td6 srqqt ar* fr* f<t rrt vdf * rtr
A&S. ( ta togfto qftqn, zoos )

frrn q{ { qq' qqfr gm ftftfitr oitr H r$ Tdt 6ttql ( Hrd { )

m frffii
N +*"9

l0

90

80

l::
G.-
lE

-40
E.F

F30
FF

20

0
2002 2003 2004 2005 2006

q{ 
---}

200'7 2008

zo. vrfr e{t g;a frdr6( Tfr ffi rr$ r<f qiltrrqq etsd {qr ffi t ?

(a) 10s0000 (r) 1055000 (c) 1043000 (d) 1040000 (e) 1070000

27. qifr sfr i $d fuerfi H'r$ TAol v'rq,r Ssd {qr ffi t ?

(a) 60 <Irs (b) 6l drs (c) 63 er€ (d) 67 EIrcI (e) 69 erct

2s. s{ 2007 i fqFfiH qA 61 {qr, sit qtr i Ef{ft q{r +1 sie {un E'r ffi yid{rd t?
(<ql{ffi +-qE z 3i+1il{-t1fr6()

(a') 11'3lo/o (b) 13,1% (c) t1'03% (d) t3's'1% (r) {{t t +t$ rd
29. qfrsd d fi-f,r+l ffi'r€ rd *1ge {qt nqr fsFftid {d 61g;ar riqr *qtq al mqvr. qr

eqvnt?
(a) 87 :104 (b) 89:roz (c) 87: 102 (a) 89: 104 G)E{it+t$Td

30. tq;s Ed i Td ffi'r€ q-A ql yftlrd vqifrm er ?

@) 200a O) 2006 (c) 2008 (A 2oo2 (") r+S t *t{ rt{



26. (e) : rfr eff dTetffi 'r{q{r+1{@r
= (70 - 60) + (65 - ss) + (80 - 6s) + (60 - 50) + (75 60) + (90 - 80) + (E0 - 7s)l tlrcI
: (10 + 10 + 15 + l0 + 15 + 10 + 5)RI€ = 75IIIEI.

27, 1c,1 : rt$edtffi'r5Td+1{st
= (60 + 55 + 65 + 50 + 60 + 80 + 75) tlrGl = zl45 ?IrcI.

3llfre elt€n {gI = $ -* : o: sz Encr : 63 RrGr (drrr{q).,7

2E. (4) : sd 2007 i tdfrft{n q-qt 61{@I = 90 tlrar.
q{qmtfqtrftqdr411{qr

: (70 + 65 + 80 + 60 + 75 + 90 + 80)erGr : 520(Irs.

=17 .309% =17 .31%

29. (4 : sSdt ffi 'r$r{r +1Oo{@r :445 drq.
q!fr qtr i fqf{ft q-{r +1 gn {ur : szo arc.

^ 445 tlrcr 445 89
sTqI€ sFltlkl 

-=E9:104.' 520 drcr 520 104

30. (r) : y-*+q{ Td ffi rr$ r-if * sfd{rd 6r qt{r :

eTse x=l-2qxroolz
[s20 )

2002 )

2003 -, 19x1oo
65

=2oo v" =ts.ltv"
13

2004 --; ]lxloo
80

=l!N=B.tsN
4

2005 --) 19xtoo
60

={y"=r.a.aty,
3

2006 --) 1lxloo
75

=20%

2007 -) =loo o/o =1.1oh
9

2008 -+ Ax too
EO

=25 Yo=e zsY"
4

19xloo
70 Y

)"

Y

)"

Y

)*

)"

=ffN=r+ ttt

]9x 1oo
90

qqtfrA sqm?rmqd zooodt

fun.rlyrn*ce



7.Gi,.t iEs{Frd

s(r6{ur 7

Frfu ( yoro er t a+ T6 ) ' *i Ri ,ri <o-c-H d t<qr rrqr <us-qr+q qr+ zooe {
fa q,e6q16 i.1o fro*o ql ctq irsr s-oe'r al qvrldr t elrdq E,r rrd-ffi s{qfi qit+
ftefaFetqr+*sm{fsq. ( quoqqo$o qfrqr, 2ooe )

qrd zooe d 6qk+ *' tftr *o*" q1 qftTnqr gacr

3500
m,f,r
ffi e*rce3300

3000
3000

2',700

2500

2200

1800

1500

1200

r 000
1000

600
500

ABCDE
u.q{ >

u. eerct t e{F{+' qtrr qrd 6qFrd +1 {qr ncr d.r t qlq-+ rer<+ erd 6qFr4f qi {qr t
+II erSvro t z

(a)2:3 (b) 4:t (c) 1:1 (d) 3:2
32. d* q,qf+dt +1fudrcri etsd d.r (sn ert€-d sflrfi * *s f+.rmr erdr t ?

(a) 1400 (r) 400 (c) 280 (d) 138

33. 6q-fi O+1 rtr, qqfr r+1 qtrr 6T drrgrr ffi qFdvrd t ?

(a) 12% (b) 20% (c) 2a% (A 30%
34. m.r{fi B nqr D qfr 3nsd ft st{ sltsd silrfi s'r +rr sr3qR t ?

(a)l:5 (b) 2:s (c) 3:5 (d1 4:s

31. (@: velr<;I t srFrr qfrl qd ,4, Cnqr E t
qfrr t s{frrfi sflr({ qrd mqt+qt'a aqr o t
3rfrq€r3crd:3:2.

32. (c) : rftit +wFrd d 3rtsn ri'r

2500

20001

,F
I500

0

= ] {,roo * rroo * rooo + 600+ 2soo)

0600 = 2120
(t
[;'
!,,
5

Elrrnqrir*ro

ct+ q''qt+ff +l stsd rflr<{ = 200+2700+1500+1800+1000)



[1"*;
sTrrte 3rd{ = (2120 - 1840; = 239.

= 1840

33. (c) : oc-fi o ol ffit : ooo, 6.qfr r ql d.r : zsoo

s+fre %=
6oo rtoo
2500

=24%.

/1200+600) 180034. (D): BiMD+1 3+qild'r = ".-", """'='?" =mO.

aaen oor ssa stq.(t -(2700+1800)-4500-2250.22
erse 3fiqrd =9oo =2 =2,s.- 2250 5

E(|-{lTr8
friyr ( coco gs t g q +, ) : +A F<i rrA qu-s+ftq q'r rrd- ffir srqat a.rh ++ fq+ rtAyrn*Ym{frS. llIatosilo vfrgr, zoro )
fr mqqTdqaq-wf, rr*ca-ql{a1+crfdtqtanscfr rrErisR+ff q1{clr(EqR]t)

flffir nu ffiN

2044 2005 2006 2007 2008 2009

Et{ ----------}

35. q{ 2008 itut 2oos i qtqr{d t-fl ra +,r sqfrrr *.,ri qrd} +1 giq {@r f+irft } ?

(a) 35000 (6) 30000 (c) 4s000 (d) 2sooo (r) Eri t +ti rd
36. q{ 2006 t qtEr{d t-{ N qr sqqtrr oti qrd} u1 {et ss s{ ffi qtqrre t-* *,r ssq}r +-rt

qre)+1gn{q anffiyFflrdt?
(a) 18% (b) 26% (c) tt% (O 23% (e) 29%

37. q{ 2005 t +qr{€ qq1 1olgqfrrr 6d qrd +1 {qr or c{ 2004 t Bfr tsr 6r sctrr +,li
qrd +1 {ret t mqsr: Rr or{crd t ?

(a)8:7 (b) 3:2 (c) 19:13 (d) ls:11 (")gdt+t{rfi
3s. q{ 2007 t fi-fr qtqrre t-qr q,r gqfrq +d are} +1 g;o {qr qd z00s { fi-i ctEr{e t-qr q,r

gc+q q-{i sTaiiql gn dqr mffi fcm t I (<crrtrq h: oidr a-o a,rti+-e;
(a)8e72% (b)e3.46% (c) 88.18% (d)e1.67% (r)rdt+tTfi

r6o
I

Its0
I

.E

.- 40

&
-106-'tr

t20
E
tL l0

0

I
ilililtil
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,ti,i,a,,fimrd,:i,1,:,4, i,

E$ qd 41ffdrfi{ d-qed t-qr Na ql sq+q 6d qrA d},if 61 *€(tsrffit?
@) rcl rt1 rtdtdl @) rc6aa? @ A+ (") raq t +ti Td

3s. (d) :

36. (a):

37. (b):

38. (/) :

39. (c):

q{ zoos Rqr q{ zo09 { Q-qr{d t-Er M 6I ndr q,.d qrdr

+1 gF €qr : (35 10) x tsgs * ,rt - ,o) , lo0o
= (2s000 + 1s000) : 40000.

sd zooo t il6r vqt{ 6{i srit 41{tql : (55 - 45) x 1000 = 10000.

ed zooo { fr+} drer{€ t-fl* or s-fr'r 6'd qrd +1rtsr = ssooo,

3r$E cfdsrildr = l' o'oo r, oo )"r" = 
200 yo = 19. 1o n = 1 goro.' ( ss000 ) |

q{ zoos t z qr rfr,r 6{i qrd 61 {@r - r5oo0.
q{ 200+ if r q,r e-dq qtt qrd +1{sr = toooo.

e+fre qgqm = l5ooo : loooo = 3 : 2.
q{ zooz { f it *qrro r+( 6d qrcif q1 {qr : ss000.
qd zoot t frt qtqrro v*q qli srd E1{qt = ooooo

sr$e vrd{rtm = [#ffi 
,tr;* = 

27 1% x = sr atN.

u un;19 2'61vftr a<i srit 61{sr
=[(15-10)+(2s-ls)+(45-20)+(35-15)+(3s-10)+(2s-10)]x1000
= (5+10+25+20+25+15)x1000 = 100000.

cftrqd l,/6r vqtrr 6t+ ft q1 *€i 100000 )
I qE{t = _ = 16666_.

Etrrnqrn+ee



ABC
{{Err ------------->

+0. q$ {eri a1fi-ora q-ar *'ori +1trem f++fit?
(q) 1200 (r) 1050 (c) 1150

D

(d) lsoo (e)s+frt+tirfi

Eqr({u[ 9
FTfvr (Eoro 40 t 44 ) , {ittrri<ue-Hdcl'q\ieln}+fsfrraffii{Erltd

{qr { G t fra qr<T+6 sr-i-+d-{ q,,r*, ++ fEn T+ y[+ * rrr {fqq.
1ta tosrlo vftegr, zoos )

lfE {rqn} + fsftra {orq} { Eri a1 {qr

1

lri
Et

I
=tr
ffi

900

800

700

600

005

9ir+Ft

f{irl
eftrq

400

300

200

100

i5?[

0
E

a1. {rvr+ p d <tfrrq i, ori +1 {et m ve {€rrt b $e Bri d {er el f+a-+ cfd{rd t ?

@) z8+"/" (b) rcJ% tct 27 Lo/o d $9%
7

C) E{d t6tii6
42. f+-q {em }rqerr * ori or yfamse {TEH *, Bri *1EE {@r 6r sqlfrr+ t ?

(q)A (r) B (c) C (d) D (e)E
43. {enr Bt e-€r dn fr+n + Oa oril el tqr <q {em E t qrFrq * Bi-i +1{wr or

frrl{l: qr q:ICrd t ?

(a)2:3 (b)3:z (c)5:4 @)a:s G)flqt6t$r-fl
44. qfi terfi q g;e trem t*tn * or*l +1 det f+ {erfr * g;E Eri 61 {qr +l f+.ili

vfdyrd t ? 1qflTffq + sR z ei+1n-o ry1ia1;
(a) 31.64% (b) 27 16% (c) 29'42% (d) 32.19% (r) E{d t 6t$ i-fi

40. (e) : e$ {erfr d*-er*'gnor,: (2oo + 2so + 150 + 100 + 300) = l00o
4r. (a) : {err{ D q qrFrq + Brit 61 {@r : (300 - r00) = 2ss.

{rqn o t gn orit 61 {@r : 7oo.

200 4

7

I
&fif

fi1q .rq q.e=ii .r trd

*.+o "n=l2oorroo)xl.700 ) 7
% =28



42. (4 : tcFFr (ellt i r+*rr t ori 4I sq {err * 6rit !fr gie riut an xfrvn :

1 --, ( 
2w 

*1ss\.7. = 22. 22%. r -+ l. !19 x r oo \2" = 71 y, = 1s. 7 5,/,
leoo ., lE00 ) 4

c - [.!19, roo )z = 
300 yo = r, . uryo. o - [?99, roo ]2" = 

200 y" = 2s. 57o7.

[8s0 ) 17 [700 ) 7

r -[.]!9,roo)z =\ot =tz so%
l8oo ) 2

5li sqtltr+ yftsrd o d t.
43. (e): {ern B i eot elt{ t{dn ft Eri +1 gm {et = 1zs0 + 2so) = 500.

{p6 6fr qfus } Bri 41 €sr : 250.

€fitfre er3qn : 5oo : 250 : 2 : t.
aa. (D) : gli {rrrrir t gn f+m +, eri E1 ri@r : (250 + 250 + 250 + 200 + I 50) : I 100.

r+ {efif } gn ori qfi {sr : (900 + 800 + 8s0 + 700 + 800) :4050.

ffi *.'
l**
%**

2'oo 
v" = zt .ruv".

81

v(r6{ut 10

Frtvr ( troro 4s t so 1or ) , *i fqi .ri qug-f{* ffi elk< * *oqo trrf{n qt{r *,
a c{ *' cftqrc qfi qrt t r*o qrrs-t{d ai qn qFr} d farrfi fuqr rrer t *i t cqr d
Etr t fi rfr ra qrq a'c{r: rqq ffi d qc-a, Efrq ffi d qq-a, ffrq ffi { voa aw rr1ff
ul qm ani t f+a qrc(+6 qqrq q,{& ++ f<a Tn urii + vm{frq.
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05. q{ 2ss9 { ffi yhffi f+srfr qqq ffitrfrotgqz (<nq(l-q +': ei+1tr+)
(a) t0'8a% (b) 9.92% (c) tr.76% (d) 12.24%

46. q{ 2010 if ffi sfd'{rd f€rrfi ESd Eq ? (qflffiE + 2 ei+1 n-o yffi1y
(a) 78'9s% (b) 73 65% (c) 8r.46% (A 88.24%

47. td's s{ I 6TFds sT doRo 6I qftwq vqtrq 1-6I ?

(a)2009 (b\ 2010 (c) 2oll (4 ffii tfiTfr
4s. sd 2011 q [frc ffi i -frli Et+ qriif 61 riqr ffi rat ?

(a)72 (D) 60 (c) & (A 56

49. qd 201 1 i ffiet{if +1 {qr, q{ zoos + ffiH o1 {qr +r ffi yFdyn Td ?

(a)r23'4% (b) 121 6% (c\ tt7.6% (A r9.3%
50. A=it qfr 6r gfr ft-dr+'.{ s-frot yFd{rd f+-d-tt 16r ?

(a) 78'2% (b) 803% (c) 82.1% (4 84.6%

Enrqqr'ittEd
4s. (c): sd 2oo9l ffiffi +1gn {qr = rzo.

ed zoos i yem asfr t s-frlt ffitfr 61{qr : 20

er.no z=[29,.r00'lv"lrTo )
=11.76%

46. (a)

47. (a)

48. (6)

49. (c)

s0. (b)

l6o xloo
200

ed zoto t s-froi 6q ffiifr or yfcsrd =
l5o 

x loo
190

e{ zoos i Tfrd z =
l4o 

x loo
t'70

= 82.3s%

ed zorotsfrol z :'18.9s%

=80%

=78 95%

q{zottisfrd z=
ero: qd zoos d qfrqr qftlaq vdtdq €r
q{ zorr i Ttrq M i 3-tr di srd 61 {iqr = (160 - 100) : 60.
qrfl sd 2o1 I i Bri +1 {qr = s{ 2009 i arir +1 riqr qT _rz

... 200 = r70 t5r x", = I 79"-L = 260 = ., = |,'0,',oo )=, r r. ur"100 ( 170 )fit sfr { r-froi arii +1*iqr : (r+o + lso + 160) : 450.

fi=it efr ti ge onn" +1 Ti@r = (170 + 190 + 200) : 560.

3l1fr€ %=
450

-x100560
= 80.3%

)

)*



7r2 .! isfirlFrd 
_

9T=TqT€IT 3 2

FTevr(EoTo 1 t 4 Tfi ): ++fiT+<us-fur{gaanfe<*wr{6rq}{s{ 2009-10

t at zor r- rz ra. mhl at {qr d 6q qHc d wtqr rqr t fra rrfr - ffi arqql qrt
+nR+.r+Tr++ym{Fqq.

ga alav * an{ari { ffitfr of tqt
Z I ffi E
qltt fs-fi qrFrq tqlq

600 -

550

500 -

400-

250 -

200 -

150-

100

50

045

I

I

Ef
E

E

350

300

2009-2010 20t0-20ll 20lL-2012

q{+

r. qd zoos-ro tf fr{n {srq i ffi yFd{ril f{snfi q ?

(a) 26'9% (b) 27 8% (c) 29.6% (d) 30.2%

z, q{ zoto-t t { ffiht +1 gn {er sS <C qrFrq + ffitd +1 toqr or ffi {r 6 ?

(") fi-c-Ttr (r) qR-T{r (.) {rq-T+ (4 E: -T.rr
3. sd 2009-10 +1 Effir q s{ 20I I-12 { f{dn + ffiffi ii ffi yidlrn Sfs g{ ?

)(a)5tr/o (b) 66:% (c) 7s% (d) tso%
J

l. f+s{arq{ ffiffi*1{qtie'ndnqfr sn$ ?

(a) +-m (r) t{dr{ (c) qfucq (4 EFc



Hrrqupit*{6-drfl-6E-d

r. (c): q{2009-lodf{dnqffifdqtcfrfld =

2. (@ : ed zoro-rr d EflFi{if m1 gfr {@r =(550
qd zoto-t t { qrFrer d ffiftif s1 {B{r =
q€tt6 t5oo:6 x 250.

[ +oo{_x|00
l(600+ 4oo+ 2oo+ t50)

(#"'*)'
1

I
=29.6%

+ 500 + 250 + 200): 1500

250.

3. (4) : s{ 2009-1o t f+*tt tffitftif d {qr : 400.

.rd 20r1-l2iif+tn* ffiftif qfi riqt : ooo.

zr' ,"= 
[]ffi,,r0], = 

'o*
4. 1a) : Ee t f+ 6-dI1i6rq q ffifi'4i qq q a'66p ofr ard

fdu (qo"o s t s ra') 
' 
fr*fri.riqu-c-F*it- {ffis{t qiqdftrq}drr<{i@I

EEH s+ {qr ( W t ) Evrt'$ lr$ f. r{ rye-fi*it an sr*-]ffi grq{{ Er+ ffiafut
crfr*sf,{AFdS.

ffi qd t s aftrfr { ego} nqr eSffi E1 t@r

35

I a-sf+d

@ a-d-+,30

I
I

G
F

E'p
le

,E

#
IE

E
It

B

25-

20

ABCDE
a;rfri .+

s. qrfr orftif i frer+r E-sffi' +1 *go {@r ffi t ?

(a) 2s00 (b) 2'750 (c) 21oo (d) 2550 C) E{d t +{ Tfi
o. qT&qowra61trdr+.{URdsffio1{qt, ord-e z, a, cq1fueml Oe il.sffi ft1ri@I

q,r t+-ci vFcva t ?

(a) E3% (b) 7s% (c') 7o% (A 88% (r)rcit+'tiTfi
7, qS Erd t Td fudr+l dsffi +1 {qr ner {.sdf 61 {ro4r t tffitr 3r<{ t ?

(a) l3s0 (r) 1400 (c) 1550 (d) 1600 telgitot$rfi
3, 6rd-s o * gn ec+l+1{qr ar ol*e a*'gm ws+i *1{er t a'qfl: qI sqqrd t r

(a)10:9 (6)8:9 (c)9:lo (d)9:8 G)E{qt+$rfr

5

0

5

, : .r. .::!ff;ffii{f ri,}$l



714 . siiFrlfq"

9. .6rA-q c + (s+l s1 {E{r H$ 6rA-df }' ge e-.cdr +1 rter or eqqrr f6-trt cid{rd t ?

(o) 43% (b) 3s% (c) 38% (4 2s% (e) 2t%

s. (b) : rIfr otfu"if t ilsffi q1 sifsa qBn =- (2500 + 3000 + 2000 + 3000+ 3250)
5

=13750 = zlso
5

6. (a) : D nerr E t 5o csffi: 13s60 + 32so):62s0.
l, B nql Cd gie dsFrql'= (2500 + 3000 + 2000) = ?500.

3{*iE % =r6250x100% )= 83.3e" = 83%.
[ 7s00 )

7. (c) : rrfr: kfr t egffi 61{Ear = trzso.
qrft 6rffi t 6s+1+1riqr: (zzso + 2500 + 3000 + 22so +zz5o): tz25o
eafrq q;6 : 113750 - 12250) : 1500.

^ 2250 9
8. (c): 3{rIIE Wlqrd = 

-=_=9 
10.' 2500 l0

9. (d) : 6llce C d ds61 ft1 {@r : 3000.
qS E,rffii t {sdi +1 gE riqr : t22so.

sr$e %=
3000_xt00
12250

=24 49% = 2s%

BliTGilEIT

s. (6) 6. (o) 7. (c) 8. (c) 9, (d)

ftit.rlwiii*ae

AN ADVANCED APPROACH TO
DATA INTERPRETATION

o An ideal book for all competitive examinations.

o A whole lot of questions on Bar Graphs, Line Graphs, Pie-Charts and
Thbulation, fully solved.

o Illustrative examples with techniques to solve all types of problems.

. Previousyears'questions included.

- Dr. R.S. Aggarwal

)"



fttw ( roro ro t r+ m ) : *n fci rtt qus-H { fr.6 r. csl { EiE ffic Ert Er
wrqq aqr frqftr (Eqrli{ ) furqr rqr t ft srs+fi a,r qrqT** srqcrq',rt Frffir
wit+rm{fu.

frm 6 qqT t Eig Hq qn} qr vqr<r aqr Frcla ( EqRI { )

30

35

t0

5

$ a<rcr

m frqld

+lzs
I

€zo
E

E,,
E

0
2006-01 2007-08 2008-09 2009-10 2010-11 20It-12

q{- >

10. f+,q q{ d viqrfi i t trqfa *l vtrfl( erFrs-dq qr ?

(a) 2011-12 (b) ?010-tt (c) 2009-lo (d) 2008-0e k) qtd t qt€ r-d
11. erf<q fi{ Efr ffir yqc fr{ sfr + sflrfl t trr{r erd{t7

(a) 20000 (r) 30000 (c) 3s000 (d) 55000 (r) Etfr t*ti rrt
12. RE rA sfr +,I gm freta t+-cn * ?

(a) 7000 (r) 70000 (c) 7s000 (d) l2sooo (e)rtit+tirfr
r. f<irdsfftl dlso s-ffrfi d?r frs( frqtn t *s e.r"{q frilfl qmt?

(a) 9200 (6) 11000 (c) 2200 (A 2083 (e) 1166

r+. frsd qd *' ri+i ii fmr str t ffltil i efil{rd qk qrrq fr ?

(a) 2007-08 (D) 2009-10 (c) 2010-ll (d) 2ott-12 (r)f+it+}{rd

tl

I

Itl
i

Il
Ii

tli

l
It

ili

!!1..1a),:,.i1.'16y li is1,. :ia; ,c)

firmFtr



,.a..gi6rfiF:.:.,. :

H.TqlrriiiEEd

r0. (e) : 2006-07 { *o," = 
[ i ;t;:tii 

x r 00 

)e" 
= 50e" .

2007-08 t i{qtu 
" 

=(ii,,*)" = lx = aa. aru".

zoos-os d FTqt( 
" 

= (fi ,,*)" =ffN = or. eu..

zoos-rod rrqtd * = (fr ,,r)z =ffu" = v.rov".

2o1o-r r t rTqtd 
" =(ff "rrr)r. = toN

uot t-tz d frqla 
" 
=[ff .,*)" =ff"r, = a+ 2"'" .

qftmdq tTqid % qd zooz-og t ra.
11. (D): ai<a s ed d gm rer<< = 1?.5 + 25 + 3s) E"rR = (77.5 x 1000):77500.

rm :efrtg;evarcr=(15+ ls+ 17.5)6qR:(47.5 x l0o0):47s00.
sr$e rrfi : (77500 - 4?5oo) : 3oooo.

12. (6) : fi f{eto = (7.5 + l0 + 7.5 + l0 + 12.5 + 22.5) EsrR : (70 x 1000) = 70000

(77500+47500) 125000
13. (a) : *ro Yerqt =

700003 gd r{qB =-
6

6 6

gIfrE ird{ =

14. (c) : 2007-08dtTqidtEfs %=

26n9-16frfuafrEfu 07"=

zoro-u t Frqia t Efa %=

_ fl25000-70000) _ 55000 _ 27s00 _ 9166.67663
= 9200 (EITFITI).

l=t
,.<- "x100
7.5

=loo Y" = zz.3oY"
3

/l25ooo Toooo \l. -..1
(10-7.s)x100

7.5
3'34o/o .

02 s-10)
3

x 100
,.(:-:x 100 = 2s%.

100

-x100125
=80%.zott-tztFrqtatgk %=

l0
(22.s -12.s) x100

12. 5

He t fm t{qt( t nrdq EFe z ad zoro-u t rd
],,=(



30

t
fiyfu(qoro 1s t 18 ), ftiGgr'rqrqus-srr+s5offiEtvqst*sflfttrt 3ntq

fir BIEI+{ qi&q 
"qr 

ftqfrka cT+ *. rm{fcq.

40

I
o
E

i
E

40

35

30

25

20

t5

l0

5

0

33

20
l6

t5

tw--------*
ts. fq;q t{r 61 qq < q{-fi t zsz erlcro t z

1al1$ers (D) t &!-6 (c) rrrrd

16, q66 d qq-q t So-s 41 qq <( al ffi cfdfln t ?

(a) 123% (b) t3s% (c) 6s%

17. qrdfrqq<{?6ldsrqlqq<t <r ergvn t z

(a)ll:5 (D) s:11 (c) 2:3
tE. Erd!-s 61 q;q-q{ qfl-&!-s 61 q;c <{ t ffi yfdqrd 6q t ?

\a)to?o tb) so% (O n!%'3

(4 qt{

(d) 16s%

(d) s :16

(4 .{it+iTd

F

E

(tr

E

It
,lE
.F

F
6

f4{.rq Uf=iii 4; trd

15. (6) : vtrfi+1va<{= 16 yfr EqR.

3xfrqqqq{ =[#,,""r"1=,
sqf,f6q5 qq q{ ?.eo-c 6l t.

sr.iE %=f 3J ,looorroolu.
u000 20 )

16 xl25)- 20 
=20 qft e-q*

1000 100 J 1000

16. (@: tn< d wq E{:33 cfr EqR, gd"d d qq < = zo cfr EqR.

t7. (a)

18. (c)

=165%.

qnd'dfi =33=11=11.5.15 5

qfi-+s sl Eq <r = 30 cfr Erm, irfruc trt qq < = 20 cfr EqR.

{sfi 6'fi = (30 - 20) cfr EqR = lo cfr EqR.

{$oxroo

10

qfi %=

1000

%= 19x100
30

=$!%.
3



?18.. dEErtFId

f{eyr( qoco 1et 23 ): ++Eirr}ps-wr*e{gaqqftEmsEtf {Yflf<aft srfrrl-
erf,rr E{G ( Eqrtt ) f<t'rt t. r,r+r qr<gfo arqqq q..{+ trqFafua wif * sm*frq.

1{6 tosr}o vftqn, zoto )

ffi qqi am ftFr< etr t sorFa <tr rare ( Eqrtf { )

ffi qt+€ (GHe (cD,

%uqt*
ffi +-+C"

2@5 2006 2007 2008 2009

q{+

le. <S afr t +*a a{r 3-dlfqn +{-Ei{-* Bl Ssd {iqr ffi t ?

(a) tloo (6) 1.7 erGI (c) 17000 (d) 85000 (r) fli t Eti r-fi
zo. qd zooo nq zoos fr 6rqfi 1 .{l s-er{ +1 5e fo-o-fi ri@r ql sflrfl Fdqt eil ?

(a) 10750 (6) 107 5 elrEl (c) 10s700 (A rcs7o tr) f+i t +t$ rfi
zr. q{ zoos t +-qfi er<r rertrr cDs a1 riefi aq qd zoos C aqfi sRr siqtf(( d-s]qq +1

{qr*fiqm eEqm rn?

(a)9:10 (r) l1 :10 (c) 10:9 (d) l0:lt G) F{H t 4ti Ti{
22. s{ 200E fr 6qfi rm seGa i-r-Err* eln cor+1gn{ernqad zoost6qagmseGa

d-+g +1 {@r + frq f+-f,{r erfi t r
(a) 40000 (D) 4ooo (c) 3s0oo (d) 3500 (r){rtt6tiTd

n. al 2006,2007 tefl 2oo9 t o,qfi ERr B-flrf<d s"f-+qs *1 {@r + si-q erlvnwrtz
(a)l:2:3 (b) 1:2:2 (c)2:l:3 (11 l:2:r k) F{i t 6ti r-d

19. F{ sfr i +.qi arrr serRa gffi t-{-qri€
: (15 + 7.5 + 15 + 30 + 17.5)6srR:85000

lro
I
Il2s

G
F20

Ers'tr

; l0
E

5

i?0ail(9,):: (i)",t3r:(4),19i,(4l

fd.rlqrn*re

85000
F{4il }Tfilz slisd Eisr = -- - - = 17000

5



it::lq9
20. Ed 2006 ?qr 2008 { TflrRd q$ TfllA +1ga rier

: (10 + 7 5 + 15) rvp + 125 
.',' 39 + 20) EqR

: (32.5 x 1000) + (75 x 1000) = (32500 + 75000): l0?500

21. 3ilfrE 
"1-1qR 

=22500= 
9 

=9,1q." 25000 l0
22. s{ 2008 t EflG? i-r-96* <w cos al gn der
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